INTRUCCIONES DE MONTAJE MALETA TRASERA RIGIDA
HARD BACK CASE ASSEMBLY INSTRUCTIONS
CASE BACK MONTAGEANLEITUNG

IS L
CUSTOMACCES S.L.

Av. Castells n°11 D

Pol. Ind. Can Castells
Canovelles 08420

Tel.938 467 229 - Fax.938 402 703
www.customacces.com

Ref.: MTO005N

INSTRUCCIONES DE MONTAJE

Para el montaje de los soportes de maletas, si usted no es mecanico, por
favor contacte con un taller especializado. MOTOACCES declina toda
responsabilidad por los dafios causados por un incorrecto montaje del
producto.

MOUNTING INSTRUCTIONS
For mounting brackets bags, if you are not a mechanic, please contact )

a specialist workshop. MOTOACCES no responsibility for damage
caused by incorrect assembly of the product.

MONTAGEANLEITUNG

Fur Halterungen Taschen, wenn Sie nicht ein Mechaniker sind,
wenden Sie sich bitte an eine Fachwerkstatt. MOTOACCES keine
Haftung fiir Schdden, die durch unsachgeméBe Montage des
Produktes verursacht.

CONEXION CABLES / CONNECTION WIRES
MALETA/SUITCASE | | MOTO/MOTORBIKE

Amarillo/Yelow

+ Positivo/Positive

Verde/Green ~+- Negativo/Negative

IVerdelAmarilIo - Green/Yelow |—{ + Positivo/Positive

Luz posicion/Light position |

Luz de freno/Light Brake |

ID. | DESCRIPCION DESCRIPTION BEZEICHNUNG QTY.

Tornillo hexagonal M8x40 DIN933

M8x40 Hexagonal screw DIN933

Sechskantschraube DIN933 M8x40

| 2

1 | Tornillo hexagonal M8x50 DIN933 M8x50 Hexagonal screw DIN933 Sechskantschraube M8x50 DIN933 2

3| Arandela plana M-8 DIN 125/A M8 DINI25/A washer Unterlegscheibe DIN 125 M-8 /A 4

4 Arandela plana especial M-8 M8 Special washer Spezialscheibe flachen M-8 4 9 /® 8
5 Tuerca M8 DIN934 M8 nut DIN934 Nuss M8 DIN934 4

6 | Tornillo M6x40 DIN7380 M6x40 screw DIN7380 Schraube Méx40 DIN7380 4

7 Brida ondulada Wavy bridlei Wellig Flansch 4

8 | Arandela M6 DINI25/A M6 DINI25/A washer M6 Unterlegscheibe DINI25 / A 4

9 | Tuerca M6 DIN98S M6 Nut DIN985 M6 Mutter DIN98S 4

Created by: www.ciandisseny.com



